Note Title

2008-02-27

ik y= 09
3 _ Pick lese |
o §e

+ mo?n.m.l, D: &€ 20
31 < R: Qmu\m

| -
x=6 RSYMPTOTE



- )=
LV

0. >0

yel
R qm\

TE
ASYrpTo
=0

o




@ ,mT;F ._kn dovais of e .%\\OC\.\.GW
Recll: Given e Nowr.un

X 20O
b 7 O, b#]
D.V .QH \OU ﬂUﬁ\V\b FV Qﬂ\mVN.Uanv
g =los (- (=-2)) x=7
x-9 20 ik 2-x DO N !
_ “\V - VI.MN “
0: x>Y [T ,g\.

D: = < 2




0) Y= \oux-{ﬁ.u?rm,v

x+S 20O =X-9YDo0o
x 72 -S = >4

et |
>c =t

D: NVQVKUWW




@ Dm erv)
»v ferimine e jqverse
un Duﬁl ; W

-

X = %.
U
W
— m
s\_r.._ 2 Cl.PP 2 n.\.% .Q .x
5 .m.o\cn s Q
Uu wv ‘be €1 r\ .v\
i IC

\ovuﬂﬁuwv.* [

AN
\\




\)

(1




<

C
L]

PR o W o

(U




